

نام و نام خانوادگی: فرزند: پاسخنامه تشریحی تکلیف شماره ۱۲ ... کلاس: (۱۳۵) ترم اول سیر B

الف) $y_1 = x^2 - 4x + 7$
 $(x-2)^2 + 3$

ب) $y_2 = -x^2 + 4x - 1$
 $\max | \frac{-b}{2a} = 2$

$2x^2 + (m+1)x + \frac{1}{2}m + 2 \geq 0$

الف) $\Delta > 0 \Rightarrow (m+1)^2 - 4(\frac{1}{2}m+2) > 0 \Rightarrow m^2 - 2m - 1 < 0 \Rightarrow m \in (-1, 3)$

ب) $\Delta = 0 \Rightarrow m^2 - 2m - 1 = 0 \Rightarrow m = 3$

ج) $\Delta < 0 \Rightarrow m^2 - 2m - 1 < 0 \Rightarrow m \in (-1, 3)$

د) $\Delta \geq 0 \Rightarrow m^2 - 2m - 1 \geq 0 \Rightarrow m \in (-\infty, -1] \cup [3, \infty)$

$y = (m-2)x^2 - 2(m+1)x + 1$

الف) $S < 0 \rightarrow -\frac{b}{a} = \frac{2(m+1)}{m-2} < 0 \Rightarrow m \in (-1, 2)$

$P > 0 \rightarrow \frac{c}{a} > 0 \rightarrow \frac{1}{m-2} > 0 \Rightarrow m \in (2, +\infty)$

$\Delta > 0 \rightarrow 4(m+1)^2 - 4(m-2) > 0 \Rightarrow m > -1$

ب) $P < 0 \rightarrow \frac{1}{m-2} < 0 \Rightarrow m < 2$

$S < 0 \rightarrow \frac{2(m+1)}{m-2} < 0 \Rightarrow -1 < m < 2 \Rightarrow m \in (-1, 2)$

$\alpha < 0, \beta > 0 \Rightarrow \alpha + \beta < 0$

$| \alpha | > | \beta | \rightarrow \alpha + \beta < 0$

الف) $P < 0 \rightarrow \frac{1}{m-2} < 0 \Rightarrow m < 2$

ب) $-\frac{b}{2a} = x \Rightarrow -\frac{b}{2a} = 2 \Rightarrow \frac{b}{2a} = 2 \Rightarrow \frac{-2m-2}{2m-2} = 2 \Rightarrow m = 1$

$\frac{2}{5}x^2 - (2\sin\alpha)x + \frac{2}{5}$

$\Delta \geq 0 \rightarrow 4\sin^2\alpha - 4(\frac{2}{5})(\frac{2}{5}) \geq 0 \Rightarrow \sin^2\alpha \geq 1 \Rightarrow \sin\alpha = 1, -1$

$S = \frac{b}{a} > 0 \rightarrow \frac{2\sin\alpha}{\frac{2}{5}} > 0 \Rightarrow \sin\alpha > 0$

$\sin\alpha \geq 1 \Rightarrow \frac{2}{5}x^2 - 2x + \frac{2}{5} \geq 0 \rightarrow 4x^2 - 10x + 4 \geq 0$
 $\rightarrow (2x-2)^2 \geq 0 \rightarrow x = 1$

$$y_2 = \frac{(ra^r - ra - 1)(ra^r - ra - \delta)}{1 - a^r} = \frac{(a-1)(ca+1)(a+1)(ra-\delta)}{(1-a)(1+a)}$$

$$\Rightarrow -9a^r + 1ca + \delta \Rightarrow \text{Maat} \left| \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \right| \frac{1}{r} \checkmark$$

$$ra^r - ra - 1 \rightarrow a^r - ra - c = (a-c)^r + (a+1)$$

$$ra^r - ca - \delta = a^r - ca - 1 = (a-\delta)(a+r) \rightarrow ra^r - ca - \delta = (ra-\delta)(a+1)$$

(r)

f

$$m a^r - (m+r)a - r = 0$$

$$s = \frac{-b}{a}, p = \frac{c}{a}$$

$$r s = \Delta P + V \Rightarrow r \frac{(m+r)}{m} = \Delta x \frac{r}{m} + V \rightarrow m = f$$

$$\Rightarrow f a^r - 9 a r - r = 0$$

$$a^r + B^r = s^r - r p \Rightarrow \left(\frac{r}{f}\right)^r - r \left(-\frac{r}{f}\right) = \frac{r^r}{f} \checkmark$$

(r)

v

$$\frac{f a + B^a}{\Delta B^r} = \frac{f a}{\Delta B^r} + \frac{B^c}{a} \rightarrow \frac{a^r}{\delta} + \frac{B^r}{\delta} \Rightarrow \frac{1}{\delta} (a^r + B^r)$$

$$\Rightarrow \frac{1}{\delta} (s^r - c s p)$$

$$a^r - \delta a + r = 0$$

$$\downarrow p = r \rightarrow a B = r \rightarrow B = \frac{r}{a} \rightarrow B^r = \frac{r^r}{a^r} \Rightarrow \frac{1}{\delta} (1 r \delta - r) = 1 r \checkmark$$

$$s = \delta$$

$$p = r$$

(r)

1

$$y_1 = k a^r + b a + c \xrightarrow{a_1} c_2 y \rightarrow c_2 f$$

$$y_r = r a + 1 \xrightarrow{a_2} y_{r+1} f$$

$$y_r \xrightarrow{a_1} f a + r b + c = 1 f \rightarrow f a + r b - 1 = 0 \rightarrow 1 \cdot a = 1 \rightarrow \begin{matrix} a = 1 \\ b = c \end{matrix}$$

$$y_r \xrightarrow{a_2} f a = c b + c = f \rightarrow f a - c b = 0 \rightarrow c a = b$$

$$y_1 = a + r a + f$$

$$a = \frac{b}{r} \left[\frac{r}{f} \right] \checkmark$$

(r)

9

$$y_2 = r a^r + (m+1)a + m + f$$

$$\hookrightarrow r a^r + (m+1)a + m + f = 0 \rightarrow r a^r + m a + m + f = 0 \rightarrow \Delta = 0 \Rightarrow m^r - f (r m + r) = 0$$

$$\rightarrow m^r - r m - f = 0 \Rightarrow (m-r)(m+f) = 0$$

$$\rightarrow m = \frac{m+r}{m-f}$$

$$i.e. \mu \Rightarrow a = y$$

$$m = r \rightarrow r a^r + r a + 1 = 0 \rightarrow a^r + a + 1 = 0 \Rightarrow a = -c \text{ and } a = b \Rightarrow m < r$$

$$m = -f \rightarrow r a^r - f a + r = 0 \rightarrow a^r - f a + 1 = 0 \rightarrow a = 1 \rightarrow y = r - r = 0 \checkmark$$

(r)

1.